o PR ASE FH

#EAAEHE ZRANSHTXFEH
B BREFEANCHESG D HKZIFR
RATUER, ROUCHEHRERE, £&
B LUL1.5%~3% M U M A
HEgsHe , HAEER > FRIWER
R o 280 B « FwURHELSY UT
R E— R e XA K B A R (Vincent’s
stomatitis) A FFHFE » REEAEA
&R F (hairy tongue) o .76 F[H 7
&, RPHR, HERREH lagyl® » HHE
CRDER o AERER MM L HR

B RN ERERT LR, ¥

SHBAREHIFL o
HABENEABER EEAAECL A
FE, MAFSZAEAFAACHBRE

A TRBEE RSt EHC)

EHRE, ERTHENSE L g BB RS
A6, H.0. T BN E , Rtk
FHHEEEAUC AR EE, LTS
MR B ER AN » 8B
FHEM AR LR — R R E T%
2B H 5 B B 8 A A B g
Aealhk, BESRACRRBHHSE
mET U AR , AL E
WM B BRI U TR
M2 W ER b — AP AR

S 3Rk

Block SS: Peroxygen Compounds. In
Block SS, ed.: Disinfection, Sterilization
and Preservation. 4th ed. Phildelphia: Lea
Febiger: 1991 : 167—81 0

VR RSB BRI RE 5 <

O I O
N\ & Jb 2 R G B ol 4 AR B _

BRFEEHSNMREERE

BRI WBHNBRALTERAT
RS T2 POy S DS r
U EWEHERRAANESR T T ER ? BH
PIBEW G BERR R — TR
] By & R 0T B Rt —test ’ARE > T8 M
MBS E A U E st B EY
AT (analysis of variance:ANOVA) XK i
TR SR E - MTHEBER LN > T

2 B B 824E 12 8 55 35 55 4

B 4 F 2 JlE S TE W B4R BT R AR th B —1E
Y BEM R RENE— B E BT
Bl o R AP = ML IE A K R 8 & 8
SHABME LA MR A BT H 2
B, WHFW R RRY E#E (TR
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Hi: pis pj(1<i<j<k)
EVREREF: VRESHBEEZ TS
AREEREM? (4

i) _ # 36 EAT RE B AR o AF401L
NRELMNBERRT JR By PR R RS R R K
HEEZE BARRR EREERMAEREY , WH
NI LM FHEE S BRZ KT X% '
FEEEZEZ (BEETH ligERESEHERTHE —
EY M) 1 Bartlett’ s &
Al A IR X B AH % Y| A
AZEd | 7| 9| S| 8| 7| 8 6!10_12 8| 80 | 676 | 351
BZE 1) 10 6 7 | 6 | 10 | 10 7 8 ‘ 51 7 76 608
CzeYy 7 9111 | 9 | 13 8 | 10 12 { 10 | 11 100 1030
DZEY) 9 10 91 6 | 12|13 | & | 7110 | 11 95 945
Ho:oi=03=03=....c’k MSb=40.17/(4 - 1)=13.37

MSw = 138.9/(40 — 4) = 3.86
2~ (676 — 640)/9 = 4
S2= (608 — 577.6)/9 = 3.38
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DR HLBFAMBZMELT
77 e (R B R E R APy K

ZBEREK) S2= (1030 — 1000)/9 = 3.33
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—(351%/40) (&iﬁ%%%ﬁﬁiﬁ%ﬁm*:z/c
=3259 —3080.03 = 178.97 A=Y (ni—1) x In (Msw/si
(2K HB A ZEFHF *Msw : B EY NP Z 4N
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n : n1+n2+rn3+n4+n5+

SSb = (80%/10) + (76%/10) + (100?/
10) + (95%/10) — (3512/40)
= 640+ 577.6 + 1000 + 902.5

—3080.03 ....+nk
=3120.1 —3080.03 = 40.07 In : loge
(B EFRK B BAHANZEFH A0 A=(10—1) [ In(3.86/4)

SSw=S St—S Sb
=178.97—40.07=138.9
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—9x0.04=0.36 (G AR ATy # %
N 7% )
Colp—— & (= -——-.—1 ) SSt = (676 + 608 + 1030 + 945)
3x(k —1) i=1 n1— |
—(351%/40)
— ni ] . =3259 —3080.03
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J*=/C=0.36/1.0463 =0.3441<7.815 =3120.1-3080.03
a. ffHeol=o3=0l=... =’k HIEREFF » # e =40.07
R B EEA- IR FFAE - O)BERNAMANZETF M
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N BEER , BIEFEZRITG 28
BEFH » KAEWHAE R & KW
w8, R A6 AR B I vk T3
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2.ACZ Bz % AL o] 22 5%
ACZ FHzZt=-2.3355 p<0.05 #&
10-8  _ 2 3519 WA R

26/1 0.6213 ST
3.86/10 ADZ [l Zt=—1.6061 p>0.05 #

BADZ HZ L& W AL 4B = |
' BCZ R Zt=-2.9296 p<0.05 #&
2028 IS 544 W AH ] 4R =
/3.86/10 0.6213 Lo s
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